Oracle8iD U OO OOOORA-1S55PDFO D OO OOOOOO
Oo0o0oodo
https://www.100test.com/kao_ti2020/143/2021 2022 _Oracle8i_E4
B8 c102 143587.htm I 0 00 0000000200000
OO000000000000block OO O O extentd O .00
Jo00o0ooooooooooooooooooodgo
OoracleD DO OO0OO. 0000000400 0AB,C,D.O
DocCOdO00OUdOO0Ooracled D OOD,OODOOOOMO
OoracleD 000 O00OO0OAOOOOOOOOOOOOOO
Oo00o00o0oo0oooooooooooooooodgo
O0000000000000000O0head. D O0O0OOO
Oo00o00o00ooooooooooooooooogo
DO00000tw@l. 0000000000 oracled O headd [
OO000.8000000000000000Oracleddd
OO0OworkloadD DO OO UOOO0OOOOOOOOOO
OJo00o00o0dol1o0000ooooonoooono 200
OO00000000000Actived JO0OOOOO O block.
. 000 Ocurrentextent O O OO0 0 OO O Head O O O
O0000@I0O0O000 4 0000000000000
O00Oheadd OO0 OO0O0O0O0O0O0O0O0OOO0OOOO
D005 00headd D0 00O0O0OO0OOOOtGIIOOOOO
DO00000000000Oextent 000 O O extentd O
DO0000000extentD DO O O0O0O0O0O0OOO0OO0O
ORA-1555 snapshottoooldU O O O U O OO OO O O O delay
blockcleanout O O OO 0O [DO]JUOOOOO 1. Read the
Data Block. 2. Read the Row Header. 3. Check the Lock Byte to



determine whether theres an ITL entry. 4. Read the ITL entry to
determine the Transaction ID (Xid). 5. Read the Transaction Table
using the Transaction ID. If the transaction has been committed and
has a System Commit Number less than the querys System Change
Number, Qupdate the status of the block (block cleanout) and start
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